RPE FARN | 2RE | 8L | FHRE WER
HEsS 2% X5 =T a8k | FEAK =

A B C |DB*C) E E/A%100

2108EF EEEeES 210M 4530 50%| 226M| 240M| 1143%|m0Ek. BEXDERTTX

22085 1BBRICDO= 210/ 4538 50%| 226 240M| 114.3%|DCEICERNZRE.

2018EF 1BRIICO= 100M 280M| 50%| 140Mm| 120Mm| 120.0%
20288 % 1RRBIC D= 100M 300H| 50%| 150M| 120M| 120.0%
REE 1RRIICO= 210/ 625 50%| 312A| 2408 114.3%
31088= 1RRBIC D= 210M 4538 50%| 226Mm| 2408 114.3%
F= 1RIICO= 210/ 3768 50%| 188M| 2408 114.3%
40188 = 1RRBIC D= 100M 2618 50%| 130M| 1208 120.0%
PRUT 1RIICO= 100M 2428 50%| 121A@] 1208[ 120.0%
2EZFA 1RRBIC D= 400M| 1,0088| 50%| 504m| 4508] 1125%
23%=B 1EREICO= 400M 830H| 50%| 415M@| 4508 1125%
(REEZAB) 1RRBIC D= 800H| 1,8398| 50%| 919m| 900M| 1125%




